## Informational Report for the May 21, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot Colleg	je - Communit	y Educ	ation									
Eberle	Christopher	S.	Chabot	No	To teach First Aid/CPR to Community Education Students	Community Education	Hourly	\$55.00	16	\$880.00	3/2/2013	6/30/2013
					To assist with planning,marketing, and implementation of Community Education's "Kids on Campus" summer	Community						
Haney	Victoria	A.	Chabot	No	camp	Education	Hourly	\$25.00	510	\$12,750.00	3/19/2013	6/30/2013
Chabot Colleg	je											
Allen	Jennifer	A.	Chabot	No	To provide specialized support using assistive technology for students with disabilities	Disabled Student Resource Center	Hourly	\$25.00	900	\$22,500.00	7/1/2013	6/30/2014
Cameron	James	P.	Chabot	Yes	To provide assistance in maintenance, learning, and safety issues in the lab.	Applied Technology	Hourly	\$20.00	260	\$5,200.00	4/22/2013	6/30/2013
Ozdemir	Hilal	H.	Chabot	No	To assist with the Early Childhood Lab School in meeting CCAMPIS grant requirements	Social Science	Hourly	\$50.00	75	\$3,750.00	2/1/2013	6/30/2013

## Informational Report for the May 21, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide training							
					and coordination							
					support for the CARI	Social						
Jones-Rasberry	Lois	E.	Chabot	No	program	Science	Hourly	\$50.00	300	\$15,000.00	4/1/2013	6/30/2013
					Ta annanina sidaa							
					To organize video shoots in the studio							
					with students for							
					clients while Chief							
					Engineer is on a							
Lothian	Thomas	E.	Chabot	No	Business Trip	TV Studio	Hourly	\$47.00	9	\$423.00	4/12/2013	4/19/2013
					To provide support							
					for the Disabled							
					Student Programs	Disabled						
					and Services and	Students						
					provide	Programs				•		
Schwer	Katherine	L.	Chabot	No	accommodations	and Services	Hourly	\$20.00	25/week	\$24,000.00	7/1/2013	6/30/2014
Las Positas Col	⊥ llege - Comm	unity	⊥ Education									
					To teach NFL class							
					to community	Community	Flat					
Warda	Christine	M.	Las Positas	No	education students	Education	Rate	\$600.00	1	\$600.00	4/1/2013	4/30/2013
Las Positas Col	llege											
					To provide							
					specialized technical							
					and professional	Disabled						
D	<b>T</b>		L D	NIa	skills to students with		l la cale	004.00	004	<b>40 500 70</b>	E/40/0040	0/00/0040
Danner	Terri	L.	Las Positas	No	disabilities	Services	Hourly	\$21.69	304	\$6,593.76	5/13/2013	6/30/2013

## Informational Report for the May 21, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide skills evaluation and	Science, Technology, Engineering,						
Freelen	George	T.	Las Positas	No	assess Fire Service Technology students	Math & Public Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
Helman	Tara	A.	Las Positas	Yes	To provide Mock Operating Room Laboratory training to Pharmacy Technology Students	Math & Public	Hourly	\$50.00	42	\$2,100.00	4/18/2013	5/31/2013
Helstrom	Zel	D.	Las Positas	No	To provide skills evaluation and assess Emergency Medical students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
Holback	Richard	A.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	80	\$1,200.00	6/3/2013	6/30/2013
Kordes	Tim	W.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	80	\$1,200.00	6/3/2013	6/30/2013

## Informational Report for the May 21, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
Logan	Andrew	D.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	80	\$1,200.00	6/3/2013	6/30/2013
Nenni II	Daniel	A.	Las Positas	No	To provide skills evaluation and assess Emergency Medical students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	80	\$1,200.00	6/17/2013	6/30/2013
Nenni II	Daniel	Α.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	80	\$1,200.00	6/3/2013	6/30/2013
Ong	Dennis	nmi	Las Positas	No	To provide Community Hospital Training to Pharmacy Technology Students		Hourly	\$75.00	24	\$1,800.00	5/1/2013	6/30/2013

## Informational Report for the May 21, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	•	
	1 11 00 11011110		0.00				1700	i uy ituto		7 0	209. 20.00	
Perez	Joselyn	M.	Las Positas	No	To support and mentor Early Childhood Development students in Mathematics and reinforce student learning outcomes	Computer Technology & Education	Hourly	\$20.00	90	\$1,800.00	1/22/2013	5/31/2013
Wagner	Teresa	G.	Las Positas	No	To provide Mock Operating Room Laboratory training to Pharmacy Technology Students	Math & Public	Hourly	\$75.00	18	\$1,350.00	4/18/2013	5/31/2013
District												
Bailey	Beverly	F.	District	No	To provide special project services, as needed, for the Board of Trustees and Chancellor	Chancellor's Office	Hourly	\$50.00	575	\$28,750.00	7/1/2013	12/31/2013